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On aTI-83/84:

Step 1: Press [STAT] to bring up the statistics menu. The first
option, 1: Edit, will already be highlighted. Press [ENTER].

Step 2: Arrow up to L1 and press [CLEAR], then [ENTER], to clear
the list. Repeat this process to clear L2 and L3 if needed.

Step 3: From L1, press the down arrow to move your cursor into
the list. Enter each number from the data set, pressing
[ENTER] after each number to navigate down to the next
blank spot in the list.

Step 4: Press [STAT]. Arrow over to the CALC menu. The first
option, 1-Var Stats, will already be highlighted. Press
[ENTER]. This brings up the 1-Var Stats menu.

Step 5: In the menu, “L1” should be displayed next to “List.” Press
[2NDI[1] if not.

Step 6: Press [ENTER] three times to evaluate the data set. This will
display a list of calculated values for the set. The mean will
be listed to the right of “T="_ (Note that ¥ is another way
to represent 1) The standard deviation will be listed to the
right of “ox ="
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Each calculator yields a mean of 5 and a standard deviation of
approximately 2.23607.
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Onall-85/84:
Step 1: Press [2NDJ[VARS] to bring up the distribution menu.
Step 2: Arrow down to 2: normaledf. Press [ENTER].

Step 3: Enter the following values for the lower bound, upper bound,
mean (1), and standard deviation (0). Press [,] after typing
each value. Lower: [(-)1[99]; upper: [34]; 1t: [30; o [2].

Step 4: Press [ENTER] to calculate the area of interest.

(continued)




image2.png
The area returned on either calculator is about 0.1151
or 11.51%.
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The following table contains z-scores for values around 1.26.
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OnaTI-83/84:
Step 1: Press [2NDJ[VARS] to bring up the distribution menu.
Step 2: Arrow down to 3: inVNORM(. Press [ENTER].

Step 3: Enter values for the area, (1, and . Press [ENTER] after
typing each value to navigate between fields.

Step 4: Press [ENTER] three times to calculate the z-score.
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‘The z-score corresponding to the lower bound of 24.8 is—1.96. By
symmetry, the z-score corresponding to the upper bound (25.2) is 1.96.




